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 : )7  (    
   I :     

                 
  .  

                     
  .  

:  
  -        C25 .  
  -       :     1410eK

 .  
  -        .  

           
   3,1 – 4,4 4,2 – 6,2  8,2 - 10  

  
1  .        
       (Sa)    V   2 110 .aC mol L  .  pH  

  2,9pH .    
            :  

                    ( ) 2 ( ) ( ) 3 ( )aq liq aq aqHCOOH H O HCOO H O    
1.1 .     .        )0,5  (    
1.2  .              :10 pH

aC



       .  )1 (   

1.3 .    éq,rQ     aC        . )0,5  (  
1.4 .   ApK  (aq) (aq)(HCOOH / HCOO )        . )0,5  (  

2 .        

             20aV mL    (Sa)  
  (Sb)      2 110 .bC mol L .  

2.1.        
 )1 ()2 ()3 (    )4 (.   )1  ( 

2.2 . pH    3,74pH      
 10bV mL   (Sb)  .     

          
   . )0,5  (  

2.3 .  bEV    (Sa)   
  .  )0,5  (  

2.4 .           
       .  )0,5  (   

  

3.74 pH-mètre 
(4) 

(1) 

(2) 

(3) 
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 II  :  -    
          )(

2
)( / saq NiNi   )(

2
)( / saq ZnZn        

150V mL        
  2

4
2

aqaq SONi  122
)( .10][   LmolNi iaq   

  150V mL        
  2

4
2

aqaq SOZn   122
)( .10][   LmolZn iaq.  

      .  
 :   

  -         :     
2 2

( )ss aq aqZn Ni Zn Ni      : 1810K .  

   -   14 .10.65,91  molCF  
1 .    irQ ,           

   .    )0,5  (  
2 .            . )0,5  (  
3 .      0,1I A    .  maxt    

   2
( )[ ]aq iZn   V  F  I  .  maxt  . )1  (  

  
:  )2,5  (  

                 
   .  

              
   .  

 
1 .        

          E    1R   2R     
0,5d m   )1 .(  

       1Y  2Y   1R   2R     
     2  .   A    1R  B   

   2R.  
  
  
  
  
  
  
  
  
  
  

          

 

  

  

  

 

0,2 ms 

A 

B 

 2  

 

 

 R1 

R2 

d = 0,5 m 

E 

 1  
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1.1 .   2         1R   2R .)0,5 ( 
1.2 .  airV         .  )0,5 ( 
1.3 .   ( )By t  B   t      A . )0,5 (  

  
2 .       
    L         

       .  
    0 =t0        

           
  .   

             
          

              . ) 3(  
    t1    P1            

  t2   P2        .  
  )4 (      
  .  

 L            
        

 11,3 .v km s.   )1 (  
  
  

:  )5  (  

               
  .  

        .  
        :

  
 
  
              RLC 

.  
              :  
-   :   C    .   
-   :      RLC .  

Do Ré Mi Fa Sol La Si  
262 294 330 349 392 440 494  (Hz)

    
  

  
  

  
  3 

L 

 4  

P2 
P1 

t(s) 

1 0 2,2 
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1 .      
   

        C       R = 200  .   
  1   uC(t)    .  

  
  
  
  
  
  
  
  
  
  
  
  

1.1 .           . )0,5 (  
1.2.       uC(t)      .   )0,5 (  
1.3 .         

t
RC

0u .ec U 
    0U .    )0,5 (     

1.4 .       RC   .    )0,5 (  
1.5 .      C    . )0,5 (  

  
2.       

       
       2   :  

-     E=12 V   . 
-      R= 200   . 
-    L       . 
-    C' = 0,5 F  . 
-   K    .  
  
  
  

           )2 (    
          3 .  

  
  

 1  
 3 6 9 12 t(ms) 

 0 

 4 

 8 

 12 

uC(V) 

2  

K

1 2 0

C' 

R L 

E 
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3 

 3 

 6 

 9 

 -6 

 -3 

0 
2 4 6 8 

t(ms) 

uC' (V) 
  

  
  
  
  
  
  
  
  
  
  
  
  
  

2.1 .     uC'     .     )0,5 (  
2.2.     T  .    )0,25 (  
2.3.   T       T0     LC .    L.     )0,5 (  
2.4.           t = 3,4 ms.         )0,5 (  

 3 .   RLC'            
      N0        . 

3.1.                  )0,25 (  
3.2 .                 . )0,5 (  

  
 :  )5,5  (   

       
            

          
 .  

         .  
     g = 10 m.s-2  .  

  
   :  

                
            .  

  (P )   r = 20 cm       
()          (S1) m1 = 50 kg    
 (P )              

     .  
  J    (P )      .    

 1  

+ 



(S1) 

P z 

O 
k G1 
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  (P )            =104,2m.NM   
 (S1)     .  

   G1  (S1)    t   z   (O,k)
    

  )1( .  
  G1     O   0 0t  .   

1.1 .             )  -  
(S1) -  (         1Ga   G1  :

 

2
1

1 2
1

.r -m .g.r=
m .r +JGa
M   .  )1,5 (   

1.2 .    G1        20, 2.z t  z      
  t .     J .    )0,75 (  
  

  :  
       (S2)  m2 = 182 g         K    

     ) 2( .  
 (S2)       . 
  (S2)     mX   

  .  
  

   G2  (S2)     (O,i)
     G2   

   O .   
   G2  t  x    (O,i)

.  
    G2  :   

2
0Kx x

m
       

0

2 .( ) .cos( )m
tx t X

T
    .  

    G2        
   3 .  

2.1 .     :  
 mX  T0         

   .)0,75 (  
2.2 .   K       . )0,75 (      
2.3 .      G2         

         .   
2.3.1 .    Ec   (S2)     : 2 2( )

2C m

KE X x  .       )0,75 (  

2.3.2 .   Em    ) (S2) - (  mX  K    
 G 2v   G2        .)1 (   

  
  

0 0,3 0,6 0,9 1,2  
t(s) 

 -4 

 -2 

 2 

 4 

x(cm) 

3  

S2 

O 

G2 

 2  i


 


